Notacion Cientifica (E)

Convierta cada numero de notacion cientifica a ordinaria.

6 X 10° = 7 % 103 —
7.7 X 10° = 1.38x 103 =
2.53 x 108 = 5.24 x 107 =

1.757 x 10> = 193 x 105 =
1.25 x 108 = 1.875 X 106 =
8.5 x 10* = 7.509 x 10® =

9.875 X 107 = 4.4 % 10° —
3.5 x 103 = 3.6 X 10° —
1.29 x 107 = 6.6 X 10° —

6.622 x 107 = 1.2 x 103 —

MatesLibres.Com




Notacion Cientifica (E) Respuestas

Convierta cada numero de notacion cientifica a ordinaria.

6 X 10°

7.7 X 10°

2.53 x 108

1.757 x 103

1.25 x 10°

8.5 x 10*

9.875 x 107

3.5 x 10°

1.29 x 107

6.622 x 107

600,000

770,000

253,000,000

1,757

125,000,000

85,000

98,750,000

3,500

12,900,000

66,220,000

7 X 10°

1.38 x 10°

5.24 x 107

1.93 x 10°

1.875 x 10°

7.509 x 10°

4.4 x 10°

3.6 X 10°

6.6 X 10°

1.2 x 10°

700,000

1,380

52,400,000

193,000

1,875,000

7,509,000

440,000

3,600,000

660,000

1,200
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